12 by 12 Kakuro Addition Puzzles

You can use the digits 1 to 9 to fill the empty cells so that the sum of each
horizontal block of cells equals the clue number on its left, and the sum of

each vertical block the number on top. Each digit can only be used once per
block!

8 27 16 16 6 10
9 8 1 6 4
11 2 18
‘ 7 3
8 7
|3 7N |31 |4
16 9 10 2 3
6 22 17
6 5 20
34 3 29 10
8 34 6 8 7
7
27 9 8 7
8 15 8
23 7 9 10 3
7 ) 8
3 2 9 2 21 1
16 11 7
35 1 |23
8 1 7 9 2
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Answers

You can use the digits 1 to 9 to fill the empty cells so that the sum of each
horizontal block of cells equals the clue number on its left, and the sum of
each vertical block the number on top. Each digit can only be used once per

block!

8 \|27 6 N6 6 NI
ol 712 11| 7 ‘4 |2
11 2 IR
6158 71819 5123
347 N0 T3 N1 |4
‘1o |7 211143

6 22 \|I7
511 Y6l 81412
34 NJ|IB 29 NJ 10
117 406|798 N]4]3
151617109 11| 7
8 B 8
217151219 Y1713
7 B  N\J8
12721817115
16 11 7
1719181513 211/ 95
11| 7 819 1712
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